T.3H. Differential Equations IIPaper
AFT-ST 1, e STarha QUK bl e AT -
Define Exact diffétential equation.

2. ot T Bl & FIeTT |

Solve the following equation: (y-px)(p-1)= =
3. FoT IR Bl G Tl 11 il :

Find complementary function of following equatlon

d*
d—)%/ —m’ y= -coshmx

4. ﬁwmﬁaﬂwaﬁrﬁmﬂammﬂﬂﬁm

Find particular integral of following equatlon

5, ﬁaarﬁmw%mwmr@mmm
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4 / B. Sc (Part II) MATHEMATICS 2016
Find the part of C.F. of the followmg equatlon
—(2x - 1)_Y+(x y =0.

"6 ﬁwwﬂ%ﬂrzﬁrmwmm

~ Findthe ﬁrst mteoral of the followin
'(1+x+x) +(a+6x)—2:+6

g exact differential equatlon

' Define partlal differential equation.

ﬁqaﬂﬁ*mwﬁwwtﬂmmmaﬁm

" Find the complete solution of the following
- r=a’t,

10, ﬁwmmwmwwaﬁaﬁm

. Find the C.F. of the following partial dlfferentlal equation. . <
r+s-6t=ycos x ; |

AT $HR-LL 1. (a)ﬁrawﬂwa?rsaaﬁm ;
Solve the following e uatlon o

- xdx +ydy i ’a —x' -y - S
xdy —ydx xX'+y' J : : -@P-TqT/OR '
(b) =1 EHienToT <t & i | |

‘ " Solve the following equation:  p*-4xy p+8y’= 0
' $$I§—II 12. (a)ﬁ-l":l GHIBIOT Bl 8 BT : Solve the followmg equatlon

dy dy _ . :
ey Eﬁ 12e+83mx 2x | | 7 o W/(__)R

(b) & FIfeTC : Solve : '

~tdx=(t-2x)dt . , - |

tdy=(tx+ty +2x—t)dt TR B Py

"?ﬁ;l%-III 1% (a)gaqf;‘]ﬁt[' Solve :

, g:r 4X_X+(4x 1)y——3e sin2x . GT!I'dT.IOR' :
(b)gaqﬁfwz Solve i G it e n e e
Vox +3x) —Y +(6X+3)—X+2Y (Xﬂ)e

{ﬂi‘—IV 14. (a)BFF?SIiGW. Solye _ R 55
e p +3q=>5z+tan(y-3x) ' 5 aqqa[/()k |
(b)mﬁﬁﬁrﬁsaa%ﬁq Solvebycharpltmethod i
' px+qQy=z. 0 e _ i
mﬁ—v 15. (2) & HINT :° Splve Ll | g e
i - Az, o dz +2—-—x+ ik '
G E}?+3 dxdy dy’ y
(byz@ERm: Solve: v -

g partial differential equation :
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B. Sc (Part II) MATHEMATICS 2016 /5
- (D? Dl 3D+D)z ¥t xy

S8l Where D = E&D* d

WFY 16. ﬁww':mamea ﬁmmwwﬁ%—wﬁml

| Find the general solution, Smgular solution and extraneous 1001 of the
foll meg equatlon ,

| P'(2-3y)'=(1-y)
_17.Eﬁqﬁﬁrm -Solve: ’ '

. +yz)dx+(xz+z)dy+(y xy)dz 0
18. 3r=ret fereror Rty &y fovet aelieneor =0t &t aifTg -

Solve the followmg equatlon by variation of parameters :
& dy _
+
e a'y=Secax |
19. T vy woftenee (et aefienen) r St &t ot ST -
Find the series solution of the following differential equatlon
- (Legendre's equatlon)
( x) —2x —X + n(n+1)y=0

20. fﬁ@f ﬁ@f o f:l‘:f GIﬁEbTUT %l B HINTE : Solve the following equation
by Monge smethod: t—rsec’ y= 2q tany
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